(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

омв NØ.age 1 of 11

0579-0040

## IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
93.101	90 Day written bird possession statement - individual or household	none	150	1.0000	150.00	0.2500	38.00			0.00
93.101, .106, . 427, .435, .50 4	Marking - Farms	none	72,723	126.0000	9,163,098.00	0.0083	76,053.71			0.00
93.101, .106, . 427, .435, .50 4	Recordkeeping Identification Marks Imported Animals - Individuals or households	none			0.00		0.00	7,272	0.160	1,164.00
	Business				0.00		0.00	37,362	0.160	5,978.00
	Farms				0.00		0.00	28,089	0.160	4,494.00
93.101	Agreement of Confinement in Personal Possession - Individual or household	VS 17-8	80	1.0000	80.00	0.5000	40.00			0.00
	SUBTOTAL				9,163,328.00		76,131.71	72,723.00		11,636.00
	TOTAL OF ALL PAGES				11,514,632.00		307,611.71	73,442.00		18,513.00
тот	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				11,588,074.00		326,124.71			

REPROI	DUCE LOCALLY. Include form number and date on all reproductions.		SUMMARY	OF INFORMATION	COLLECTION					e 2 of 11		
	: Use this form when a single information collection document in urements. The totals of the figures in cols. should be entered in it			TITLE OF INFOR	MATION COLLECTIO	ON DOCUMEN	т		OMB NO.			
	= 13a (respondent is only counted once); cols. F & I = 13b; co	ols. H & K = 13c.		IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND						0579-0040		
(K)Total/(I)Total -				ZOOLOGICAL			0, 0200211, 7010		DATE PREPARED			
	nns will calculate automatically. If Col. E's response is something & decimal will display.	other than annual	ly, i.e., 1/6			Διισιι	st 24, 2007					
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN		Tugu	31 24, 2007		
				REPORTS								
										TOTAL		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-		
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	KEEPING HOURS (Col. I x J)		
				RESPONDENT	()		(2000 0 2)		KEEPER	(		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)		
	Request for space at USDA operated quaranting facility (pet birds) - Business	VS 17-23	700	1.0000	700.00	0.1900	133.00			0.0		
u	Import permit to transit poultry, hatching eggs or birds - Business	VS 17-135A	5	2.0000	10.00	0.1900	2.00			0.0		
93.103, .106	Application and space reservation request for Ratite(s) and Ratite hatching eggs and site inspection - Business	VS 17-128	20	32.0000	640.00	1.0000	640.00			0.0		
93.101	Identification of Ratities - Business	none	20	312.0000	6,240.00	0.5000	3,120.00			0.0		
93.101	Recordkeeping daily register for owner or manager for Ratities and hatching eggs - Individuals or household	VS 17-129			0.00		0.00	80	9.000	720.0		
	Arrival declaration for birds or animal for retention and other documents affidavits - Individuals or households	VS 17-29	125	431.0000	53,875.00	0.1900	10,236.00			0.0		
	SUBTOTAL				61,465.00		14,131.00	80		720.0		

## INSTRUCTORS. UGE LAS ALLY when the figue with the addition of the concellence of the conc

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

омв NØ.age 3 of 11

0579-0040

IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN			
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
.417, .425, .50 1, .520, .521, . 804		VS 17-29	2,000	431.0000	862,000.00	0.1900	163,780.00			0.00
	Farms	VS 17-29	375	431.0000	161,625.00	0.1900	30,709.00			0.00
93.101	Owner or manager and country of export quarterly submission of registers - Individuals or households	none	20	4.0000	80.00	0.0500	4.00			0.00
93.101	Recordkeeping national exporting countries registers and maintenance of current production records, additions to premises & ceiling limitations - Federal Government	none			0.00		0.00	20	4.000	80.00
93.103	Opportunity for a hearing for Ratities withdrawal of a permit - Business	none	1	1.0000	1.00	6.0000	6.00			0.00
93.301	Recordkeeping Horses for association and trainer - Individuals or household				0.00		0.00	500	12.000	6,000.00
	SUBTOTAL				1,023,706.00		194,499.00	520		6,080.00

## INSTRUCTORS. UGE LAS ALLY when the figue with the addition of the concellence of the conc

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

омв NØ.age 4 of 11

0579-0040

IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS			RECORDS		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
93.301	Written request to change horses itinerary or method of transport - Individuals or household	none	6	1.0000	6.00	0.3330	2.00			0.00
	Appeal or hearing of import permit withdrawal - Individual or household	none	1	1.0000	1.00	6.0000	6.00			0.00
93.101	Random inspections per breeding season of premises for required ID and recording on quarterly report of registers - Business	none	20	4.0000	80.00	1.5000	120.00			0.00
7,.422,.424,.	Application import or intransit permits (request space at USDA operated quarantine facillities and includes mailing copies) - Business	VS 17-129	85	117.0000	9,945.00	0.1900	1,890.00			0.00
93.104, .300, . 314, .326, .31	Foreign Health Certificates - Federal Government (Foreign)				0.00		0.00	46	1.000	46.00
93.103, .204, . 309, .404, .41 2, .511, 98.34	Letter of Credit, cashiers or certified check, or money order - Business	none	389	20.0000	7,780.00	0.1000	778.00			0.00
	SUBTOTAL				17,812.00		2,796.00	46		46.00

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY

омв NØ.age 5 of 11

0579-0040

PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					AL BURDEN				
					REPORTS		RECORDS			
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	(6)	(0)	(0)	(L)	(1)	(0)	(1)	(1)	(3)	(K)
93.101	Marking Hatching eggs - Business	none	20	3500.0000	70,000.00	0.0050	350.00			0.00
55.101	Marking Hatching eggs - business	none	20	3300.0000	70,000.00	0.0050	550.00			0.00
93.103, .204, .	Written notion of concellation from importor									
204 404 50	Written notice of cancellation from importer - Business	none	20	5.0000	100.00	0.2500	25.00			0.00
4										
93.301	Written agreement with State for CEM (monitoring by State and submission of test	none	22	10.0000	220.00	3.5000	770.00			0.00
	reports) - State, Local or Tribal Group	none		10.0000	220.00	5.5000	//0.00			0.00
	Marking letter "T" for testing - State, Local or									
	Tribal Group	none	22	3.0000	66.00	0.1600	11.00			0.00
93.301	Submission of speciments (burden cleared	VS 10-4			0.00		0.00			0.00
001001	under 0579-0090)	10 10 1			0100		0100			
93.404, .504	Zoological park inspection report - Business	VS 17-65A	7	2.0000	14.00	5.0000	70.00			0.00
	SUBTOTAL				70,400.00		1,226.00	0		0.00

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

омв NØ.age 6 of 11

0579-0040

### IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
						RECORDS				
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	()	(J)	(К)
93.404, .504	Agreement for the importation, quarantine and exhibition of certain wild ruminants and wild swine for zoological part operators - Business	VS 17-65B	7	1.0000	7.00	0.5000	4.00			0.00
93.404, .504	Report of Zoo animals with suspected cases of contagious or communicable diseases - Business	VS 17-65C	50	2.0000	100.00	0.1900	19.00			0.00
93.414, .511	Transfer of wild animals - Business	VS 17-65D	12	1.0000	12.00	0.1900	3.00			0.00
	Foreign test certificate for TB and brucellosis (burden included Foreign Health Certificate)				0.00		0.00			0.00
93.301	Application for approval of quarantine and holding facility or lab horses - Business	letter	20	1.0000	20.00	0.2500	5.00			0.00
93.434, .401, . 412	Sheep and goats - Individuals or households	letter	1	1.0000	1.00	0.2500	1.00			0.00
	SUBTOTAL				140.00		32.00	0		0.00

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND ZOOLOGICAL ANIMALS

омв NØ.age 7 of 11

0579-0040

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					AL BURDEN				
					REPORTS			RECORDS		
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD- KEEPERS	HOURS PER RECORD-	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
		(-)	(-)	(_)		(-)	( )		(-)	(1)
93.501, .511, 98.3, .16	Swine, ruminants - Business	letter	4	1.0000	4.00	0.2500	2.00			0.00
93.106, .301, . 304, .434	Opportunity for hearing to present view on facility withdrawal and written withdrawal by facility operator	none	1	1.0000	1.00	6.0000	6.00			0.00
93.106, .106	Cooperative agreement and trust fund for birds (includes providing a list of current employees to prot vet signed statement from each designated employee				0.00		0.00			0.00
	Written instruction to monitoring agency furnish telephone nos of the coops, written request for accounting for funds and written termination - Business	none	10	2.0000	20.00	2.0000	40.00			0.00
93.301	Trust fund or compliance agreement for horses - Business	none	35	1.0000	35.00	0.1900	7.00			0.00
93.301, .214	Application/Permit to import birds (request space for commercial lots of birds at USDA operated or approved quarantine facilities)	none	10	15.0000	150.00	1.0000	150.00			0.00
	SUBTOTAL				210.00		205.00	0		0.00

INSTRUCTED AND WHEELED SHEELED S	OF THE OPPORTUNE OF THE	омв NØ:age 8 of 11
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:		
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY	0579-0040
(E)Tota]/(D)Tota] = (E)Avorado (H)Tota]/(E)Tota] = (C)Avorado	PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND	
(K)Total/(I)Total = (J)Average		DATE PREPARED
<b>NOTE:</b> The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		
years, list as "1/6" & decimal will display.		August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN			
					REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
93.434	Recordkeeping daily log and ID records for ruminants, swine, and equine - Business				0.00		0.00	23	0.250	6.00
93.106	Recordkeeping daily log and id records for birds - Business	VS 17-12			0.00		0.00	50	0.500	25.00
93.106	Additional requirements for quarantine of birds - Business		1	1.0000	1.00	2.0000	2.00			0.00
93.101, .210, 98.34	Application for approval or quarantine facilities and requester for transfer of operations to another facility - Business	VS 17-11	20	1.0000	20.00	0.5000	10.00			0.00
93.210,.218, . 309.321,.325, .412424	Written request for inspection, other services, and dipping - Business	VS 17-32	185	121.0000	22,385.00	0.2500	5,596.00			0.00
93.200, .300, . 400, .500, .60 0	Accredited Veterinarians (burden cleared under 0579-0032)				0.00		0.00			0.00
	SUBTOTAL				22,406.00		5,608.00	73		31.00

# INSTRUCTION OF ANIMAL AND POULTRY, ANIMAL/POULTRY OF ANIMAL AND POULTRY OF ANIMAL/POULTRY OF ANIMAL AND POULTRY OF A

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFIC	CATION OF REPORTING OR RECORD KEEPING REQUIREMENT									
						RECORDS				
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(1)		(0)		RESPONDENT		(0)	4.0		KEEPER	40
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
93.215	Canadian port veterinary certification on back of US health certificate (burden cleared 0579- 0020)	VS 17-140			0.00		0.00			0.00
93.405, .423	Affidavit or certificate from owner or importer stating animals have in the country for 60 days propr to shipment (burden cleared under Foreign Health Certificates)				0.00		0.00			0.00
93.427	Importer or agent certification free of fever tick - Business	letter	185	121.0000	22,385.00	0.1900	4,253.00			0.00
93.427	M Brands steers from Mexico - Business	none	185	6069.0000	1,122,765.00	0.0050	5,614.00			0.00
93.702, .802	72 Hour prior arrival notice at port of first entry - Business	none	300	33.0000	9,900.00	0.0830	822.00			0.00
93.435, 98.10,	Written agreement application for permit, and ID (Scrapie) & flock certification (cleared under 0579-0101)				0.00		0.00			0.00
	SUBTOTAL				1,155,050.00		10,689.00	0		0.00

## INSTRUCTIONS UGE-LASS Adday which wishing to the function of the content of the c

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

IMPORTATION OF ANIMAL AND POULTRY. ANIMAL/POULTRY

омв Rage 10 of 11

August 24, 2007

0579-0040

DATE PREPARED

PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average ZOOLOGICAL ANIMALS

(K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 vears, list as "1/6" & decimal will display.

### IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS TOTAL FORMS NO (S) NO. OF NO OF TOTAL ANNUAL HOURS TOTAL NO. OF ANNUAL RECORD-SECTION OF DESCRIPTION (If "none" RESPONDENTS RESPONSES RESPONSES PER HOURS RECORD-HOURS PER KEEPING HOURS RECORD-REGS. PER (Col. D x E) RESPONSE (Col. F x G) KEEPERS (Col. I x J) so state) RESPONDENT KEEPER (A) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) Owner affidavit for sheep and goats from 93.435 1.0000 1.0000 1.00 0.00 1.00 1 Scrapie regions - Individuals or households Request for recognition of a region an approval to export animal or animal products - Federal 92.2 22 1.0000 22.00 1.0000 22.00 0.00 Government (Foreign) Request for additional information about a 92.2 10 1.0000 10.00 40.0000 400.00 0.00 region (Federal Government (Foreign) 93.314 Less than 60 days in region - Business 50 1.0000 50.00 0.1000 5.00 0.00 Appeal of risk class denial - Business 2 1.0000 2.00 10.0000 20.00 0.00 Implementation of recommendations -1.0000 5.00 20.0000 100.00 0.00 5 Business SUBTOTAL 90.00 548.00 0 0.00

## INSTRUCTIONS: UG& UMS MIAN When we fight the stand of the method of the stand of the method of the stand of t recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:

cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

## IMPORTATION OF ANIMAL AND POULTRY, ANIMAL/POULTRY

омв **R**age 11 of 11

0579-0440

PRODUCTS, CERTAIN ANIMAL EMBRYOS, SEMEN, AND (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average ZOOLOGICAL ANIMALS

DATE PREPARED

August 24, 2007

IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT				- 0-					
				REPORTS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER RESPONDENT	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD- KEEPER	KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
	Restricted agent notification - Business		2	1.0000	2.00	1.0000	2.00			0.00
	Application for classification and reclassification for risk classes includes formal disease questionnaire and regions Agriculutral laws and regulations translated into English		22	1.0000	22.00	79.0000	1,738.00			0.00
93.301, .523	Opportunity to present view on usp. Of approved State to receive Horses - Individual or household	none	1	1.0000	1.00	6.0000	6.00			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
	SUBTOTAL				25.00		1,746.00	0		0.00